Roll No.
e .

Series RKM/2 Code No- 31/2/1

e Please check that this question paper contains 7 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the serial number of the question before attempting it.

o FUAT Sifd &R @ fh 3@ I9-0 ¥ qfed U= 7 ¥

o US-UA H RS BY #H AR U MU HIz TR F BE IR & @IS W o |
o FUAT WA & @ fh 3@ UT-9F H 24 YA 2|

o FUAT UK H I @l & H & Ueel, U HN hAih FAT ford |

SCIENCE AND TECHNOLOGY (Theory)
IEEIRRC R ICURE G AR ED)

Time allowed : 2% hours Maximum Marks: 60

fera

gag : 2V guZ Siferpaq 3% : 60

General Instructions:

(i)
(ii)
(iii)
(iv)

(v)
(vi)

(vii)

(viii)

(ix)

31/2/1

The question paper comprisestofo sections, A and B. You have to attempt both the
sections.

You areadvised to attempt all the questions of Section A and Section B separately.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in some
questions. You are to attempt only one option in such questions.

Marks allocated to every question are indicated against it.

Questions numbdr-4in Section A andl7, 18in Section B are very short answer questions.
These are to be answeredone wordor one sentence.

Questions numbes-8 in Section A and9, 20in Section B are short answer questions.
These are to be answered3d - 40words each.

Questions numbe®-14 in Section A an®1 - 23 in Section B are also short answer
guestions. These are to be answeredin 50words each.

Questions numbet5, 16in Section A an@4 in Section B are long answer questions.
These are to be answered/idwords each.
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SECTION A
gus A

1. The pH values of three solutions A, B and C having equal molar concentration are
respectively 2.0, 7.0 and 13.0 at 298 K. Which of the three solutions represents an acid

solution ?

T fawaet A, B 3R C &0 #ia¥ |adl §9 & W S pH A 298 K A9 W AT
2.0, 7.03R 13.081 3T OF [l § & HFET AT [GTa ®0 Y & & ?

2. Write the chemical formula of simplest ketone.

T WA DI H TEEEE G [aiay |

3. Whyis our galaxy called ‘Milky Way’ ?
AN ol g AaEar (e 3) @ wed €

4. If the distance between two electric charges is doubled, how much will the force exerting

between them change to ?

gfe &1 fagq smasi & 9 @ gl A R & A, A1 I 61" @ A a9 R ThR
qRafid & S ?
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5. State four characteristic features of ‘Dynamic Equilibrium’. 2

aTiaeh A & AR SAfaree e iRy |

6. What is Fehling’s reagent ? What would you observe on heating formalin with Fehling’s
reagentin a test tube ? 2

BT TRRHS T & 2 BHIAT Bl BielT AURHE & T Th TETAl § W B W
MY T gferd & 2

7. Distinguish between a ‘geosynchronous’ and a ‘polar’ satellite. What is the usual time
period of a 2

(@ geosynchronous satellite ?
(b) polar satellite ?

“I-gEHEl SR ‘gAT IWE H 9E g | fEfaRkad & ST STEd-hrd B A
B

(3) TTIHE IHE
@) ga SuUs

8. An electric heater is used on 220 V supply and takes a current of 3.4 A. Calculate (i) its
power and (ii) its resistance, when it is in use. 2

U o e & IUANT 220 V & dwE § B W 399 3.4 A R 9 garted e
T SYErT fhu S gm g (i) H AfE STR (i) SHer iR, IRepferd sifong |

9. What is ‘Plaster of Paris’ chemically ? How is it obtained from gypsum ? Write the
condition and chemical equation involved in its manufacture. 3

TAEANE B0 § TR 3ih U 1 & 7 39! g 9 {5 YR 9 & € ? 39
IR § gEied 9 aun qaEias g fafea |

10. Define the term, ‘allotropy’. In which kind of properties are the two allotropes of an
element (i) similar, (ii) different ? How can the two allotropes of sulphur be distinguished

from one another ? 3

‘FREIAT 9TeE HI URHWT faRaw ) fRdt aw & I SuRed fFg 9B & TN H
() g9, (i) o 80 8 2 9o & Sl STUREdl @l UedN [hH YR @l S Al
T 2

11. Give reasons for the following : 3

() Alcohol supplied for industrial purposes is mixed with poisonous substances like
copper sulphate.

(i) The reaction CHCOONa + NaOH- CH, + NaCQ, is classified asa
decarboxylation reaction.

(i) Formalin is used for preserving biological specimens.
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ffiad @7 HROT W Hifg

() ofEnfee ®Ef & o oMY # 9 awcl Uehleid § PR dohe oF faurh qaret
A S |

(i) sffRaT CH,COONa + NaOH - CH, + Na,CO, &I fapmaifarciiereor itfhar
% w0 § Fiipd fopar ST ¥

(i) el B IwEE Sfaw gfdestt & uRweor & foo far S 2

12. A convex mirror used on a bus has a focal length of 200 cm. If a scooter is located at
400 cm from this mirror, find the position, nature and magnification of the image formed
in the mirror. 3

el 989 § STERT M ard Saa Q99T & %ihd g 200 cmE | At 39 qUor | foha
et H g 400 cmg, dF U9 § a9 TR & gfata @ Rafa, wfa wd smae s
HIT |

13. (a) What s a ‘solar cell’ ?
(b) Why is bio-gas considered an ideal fuel for domestic use ?
(c) Name adevice in which controlled chain reaction is used. 3

(31) @R ¥ 58 @ed & 2
(@) -9 (FEEE) B A SUE & a0 U Siesl FO b AT S §
(@) uH UEr gih w1 AW qareU s Matea gaar afutear wr SuEnT s g |

14. (a) Define the term, ‘electroplating’.

(b) With a labelled diagram describe an activity to show copper plating on a metal
spoon. 3

(31 foga-ouT g @i gfemr fafaw )
(@) “ifhd = & FerEar § et 91g % a9 WX IR & ue Bl G0 AT hathard
H A9 BT |
15. (a) Write the name and formula of the main ore of aluminium.

(b) Whatis alumina ? Which reducing agent is used for the reduction of alumina ?

(c) Draw a diagram of the electrolytic cell used in the reduction of alumina. Label
anode and cathode onit.

(d) Why is alumina dissolved in cryolite ? 5
OR

31/2/1 4



16.

(@ Whatis an alloy ? How is an alloy made ?
(b) Name analloy
()  which has alower melting point than its constituents.
()  which is more hard, tough and strong than its constituents.
(c) Name the constituents of the alloy, ‘Magnalium’. Write its two uses.

(31) T % ger eEwh &1 AW qdr 9= fafau |
(@) U w® R ¢ UARET & ot § fRE STUEmIe @1 SWERT BT © 2
(@) <9 fagd-suEer a0 w1 ARG itde SEsr ST U & Su=ad | R s
T 39 IRE@ W UAIE qUT HATS I BT |
(X) UM BN HETES § F oA © 2
Jreran
(31) Frsreng fope @ed € °» 98 &9 IR AT S 7
(@) TH Fr=reng @ AW qAEy
() frEdr gavis Sab Huewt & gavlie d &9 el ¢ |
() S ST Heaehl w g § ferd HoR, A (A1) Ud afhard S 2
(@) H-feem fgerg & gaewt & 99 fofaw ) @ < Suan fafaw )

Name the four common defects of vision and state the cause of each defect. A person
cannot see distinctly objects placed beyond 2 metres. State the nature and focal length of
the lens which could be used to correct this defect. 5

OR

(@) Describe with diagram an experiment to show that a force is exerted on a current
carrying conductor when placed perpendicular in a magnetic field.

(b) State the rule to find the direction of the force exerted on a current carrying
conductor in a magnetic field. 5

AR A ge-EN & AW [y 991 9o S e B T BROT |l i@y | o e
2 Hiex § ffes g W @I a&GA Bl T &l <@ Thal & | 36 @ Bl YHid a7 Bibd
T fafau frEs SUarT a1 39 A9 &7 "eie fRar S gehar & |

Hgar

(31) oM@ T FEEd § Uh FART &7 I S ST I8 S0 G 6 fhar T & o
39 &9 & TEad @M B gRER! adE a9 B AHT BT ¢ |

@) fordll T &9 § W 9REE] 9de W @ ard g Bl ST [ b BN
fafeT |
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SECTION B

s §
17. What is meant by ‘translocation’ with respect to transport in plants ? 1
qref § qRaed & Gad § TIMIRr @ @ 7 7 7
18. What is a ‘ganglion’ ? 1

A T TR 2
19. Anil has blood group ‘A’ while Om has blood group ‘O’.
(@ Persons of which blood group(s) can receive blood from (i) Anil and (ii) Om ?

(b) Who can donate blood to (i) Anil and (i) Om ? 2
OR
Draw the human heart and label (i) Aorta and (ii) Coronary artery on it. 2

I T B af ‘A AT 3 & SR ‘O’ B
(1) fora-fope Bfer @t & =afk () o & @ (i) o & SfeR uTd &R & € °
(@) P TheH & qGhar © (i) e & (i) s #w o
AT
AT ged & @ Wity a1 38 W (i) Feremsr iR (i) gg-amer At it |
20. What is autonomic nervous system ? Name the subsystems in which it is subdivided.
Ia dEer dF 69 #ad § 7 I9 Suadl (qteerst) & AW faRaw eE gE gl
fopar T T

21. (a) How is the process of binary fission different from budding ?
(b) Whatis grafting ?

(c) Listtwo advantages of vegetative propagation. 3
OR

Draw a diagram to illustrate fertilization in a flowering plant and label the following in

it : 3

(@) Pollengrains

(b) Egg

(31) fa-forgues @ ufshar gopa & fpg &0 o By &mr © 2
(@) wHag-aTEr R wed € 2
(@) #ifaw gaeq & & @y fafaa
v
ot ureq § fuE ga & fu uw e difun ok sad feefafad @ amifed
FHIWT -
(37) IRETHIT
@ &2

31/2/1 6



22. How is the sex of the offspring determined in the zygote ? Explain. 3

gEAS § gafa & foT & FeRer @ fhar qweme |

23. Distinguish between ‘Conservation’ and ‘Preservation’. Suggest any four practices which
may help in protecting our environment. 3

T SR URIET H U I | TATERET WA § FEAE Bl AR AR AR |

24. (a) Draw the respiratory system of human beings.

(b) Label the following on the diagram drawn :
Larynx, Trachea, Primary Bronchus, Lungs.

() Whathappens to the carbon dioxide which collects in human tissues ?
(37) AT @EF-aT @ ARG iy |
@) @i T ARG W Afiad & Aifed By
o, @EEl, IO a9, BUH |
(d) AT Sdhl H§ UHET HET SISI(FISS & 41 Bl & ?
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